
KROME    A V-2 PRODUCT 

BEARINGS 
                        FRONT WHEEL BEARINGS         Price List 01-10-2019 

S.No.  BEARING No   DESCRIPTION      PRICE 

1 DAC 636096-2RS  CHEVROLET OPTRA N/M    520 

2 DAC 36680033-ZZ(SKF TYPE) MARUTI 1000,ESTEEM & ZEN N/M   385 

3 DAC 397237-2RS  FORD ESCORT,IKON,INDICA,OPEL N/M   410 

4 BABH 633313 CA  UNO PETROL      350 

5 BABH 636096-2RS  OPEL  O/M, OPTRA N/M    480 

6 BABH 636114    OPEL CORSA      470 

7  DAC 458439-2RS  SUZUKI SX4, TATA WINGER    750 

8 BABH 636149 CD  SUZUKI SX4, TATA WINGER    780 

9 DAC 356837-2RS(FAG TYPE) UNO (D),INDICA,PALIO,SIERA    380 

10 DAC 2550043   VOLVO       480 

11 DAC 34640037-2RS  CIELO & AVEO      380 

12 DAC 3561840-2RS(FAG TYPE) ALTO,WAGON R      405 

13 DAC 36680033-2RS(FAG TYPE) MARUTI 1000,ESTEEM,ZEN N/M   375 

14 DAC 37720037-2RS  MAHINDRA LOGAN     510 

15 DAC 381700037-ZZ  HYUNDAI ACCENT,VERNA,GETZ    415 

16 DAC 38720040-2RS  HONDA CITY T-1/ T2     450 

17 DAC 4072WC535  SUZUKI BALENO     450 

18 DAC 4074CWC 73  MITSIBUSHI LANCER (WITHOUT SEAL)   530 

19 DAC 4080 MICS 36  HYUNDAI   SONATA   O/M    750 

20 DAC 428036   HYUNDAI   SONATA N/M, ELANTRA   1000 

21 DAC 437844-ZZ   HONDA CIVIC   (NON ABS)    750 

22 DAC 40740040-ZZ/ 2RS  SKODA       500 

23 DAC 40740042-ZZ / 2RS  TOYOTA COROLLA     500 

24 DAC 40740036-2RS  LANCER       480 

25 DAC 43 KW 007   INNOVA      900 

26 DAC 43 KWD 07 ASS  INNOVA (ABS)      1200 

27 DAC 45 BW 012   HONDA CRV & TUSCON     1200 

28 DAC 47 KW 007   FORD ENDEAVOR                     1220 



KROME    A V-2 PRODUCT 

BEARINGS 
S.No.  BEARING No    DESCRIPTION     PRICE 

29 LM 11949/10    TOYOTA QUALIS    155 

30 LM 57414/10    GYPSY      260 

31 LM 67048/10    TOYOTA QUALIS    175 

32 LM 68149/11    DAEWOO MATIZ    210 

33 TF38KWOIC65 (LM57410/29710)  HYUNDAI SANTRO    250 

34 VKBA 888 (DAC 357233)   PEUGEOT 309     410 

35 LM 12649/10    CHEVROLET  TAVERA     175 

36 25590/20    SCORPIO     315 

37 320/32 X    TATA ACE     210 

38 38 BWD26LI(DAC 38730040-2RS) HONDA CITY T3/T4    510 

39 LM 48548/10    TAVERA      180 

40 LM 501349/10    SCORPIO,MAHINDRA JEEP   240 

41 DAC 40720036-2RS   SWIFT,RITZ     520 

42 DAC 407236-ABS   SWIFT  (ABS TYPE)    650 

43 DAC 397237-ABS   FIESTA (ABS TYPE)    650 

44 407442 (ABS)    ALTIS (ABS TYPE)    700 

45 51720-0U000    I-20/ACCENT (ABS TYPE)   650 

46      EON      500 

47      FORTUNER     2000 

48 28 BWK 15A    FRONT HUB,ECO,VERSA    1090 

49 803640 BA    HUB SKODA ,FABIA,PALIO   2100 

50 IKO 498621    HUB (THREE HOLE LAURA)   2500 

51 ITO 498621    HUB (FOUR HOLE LAURA)   2700 

52 LM 24780/20    MAHINDRA JEEP    310 

53 DAC 437643    NISSAN Y TRAIL     690 

54 BAH 0011 A    SKODA SUPER B     1400 

55 DAC 39.76    HYUNDAI TUSCON    1100 

56 DAC 38 BW-27    HONDA CITY T-4    650 

57 DAC 38 BW 27 ABS   HONDA CITY T-4 ABS    900 



KROME    A V-2 PRODUCT 

BEARINGS 
S.No.  BEARING No    DESCRIPTION     PRICE 

58 AUO  822    LANCER CADIA     700 

59 F 085959.01    NANO      350 

60 BTH 1042 A-1M76   XYLO,SCORPIO N/M    980  

61 BA 10     MAHINDRA BOLERO GRAND   525 

62 CT 1310    ESCORT  TRACTOR    390 

63 DAC  356240 ZZ    A-STAR      420 

64 45KWD05    ARIA      900 

65 DAC 387237    I-20 ELITE/XCENT    550  

66 DAC 356235    KWID      460 

67 DAC 387440-ABS   HONDA T-5/AMAZE/BRIO/IVTEC  845 

68 52700     CRETA      845 

69 DAC 427840    VERNA FLUDIC/ELENTRA   1000 

70 DAC 407840 –ABS   SAIL      900 

71 DAC 427739-ABS   LODGY-ABS     900 

72 DAC 4072WC535   BALENO     600 

73 DAC 45BWD12-ABS   HONDA CRV/ACCORD T-1   900 

74 DAC 488640/42-ABS   ACCORD T-2 ABS    900 

75 DAC 428039-ABS   DUSTER –ABS     890 

76 F-576003    MAXIMO N/M     475 

77 DAC 427639    TUSCON     1200 

78 DAC 498448    TATA XENON/PICK-UP MAHINDARA  990 

79 DAC 407236-ABS   SWIFT ABS TYPE    700 

80 DAC 458439-ABS   ERTIGA ABS TYPE    925 

81 1238-ZZ    IRIS  1238 ZZ     525  

82      ECOSPORT/FIESTA/POLO ABS    700 

83      MICRA/DATSUN GO/PULSE/SCALA ABS  700 

84      HUB SCORPIO S2    2800 

85      INNOVA CRYSTA ABS TYPE   950 

86      JETTO      450 



KROME    A V-2 PRODUCT 

BEARINGS 
S.No.  BEARING No    DESCRIPTION     PRICE 

87      SAIL ABS TYPE     900 

88      SPARK/MATIZ (KIT)    400 

 

   

CLUTCH BEARINGS 

S.No.  BEARING No    DESCRIPTION     PRICE 

1 C 0099     FAIT PALIO     370 

2 CRB 47     ACCENT CRDI     500 

3 F-206071    OPEL CORSA     430 

4 FCR 44-36 (PRB -06)   ALTO,WAGON R, ACE    305 

5 FCR 50-30-14    GYPSY      370 

6 FCR 50-35-6/5 K   ZEN, ESTEEM     305 

7 FCR 54-46-2/2 E    SWARAJ MAZDA    415 

8 477K B 3102    HONDA CITY T-3/CIVIC    415 

9 IKON (1075776)    FORD IKON     1350 

10 KRM 80     INDICA ,WINGER    305 

11 1888451    TATA 407     450 

12 M-71     SCORPIO,MAX TURBO    475 

13 F-559315    XYLO,SCORPIO  N/M    575 

14 180231     SKODA      475 

15 PRB -01     LANCER (D)     370 

16 PRB-04     HYUNDAI ACCENT    370 

17 PRB -08     CIELO      365 

18 PRB -25     HYUNDAI SANTRO    305 

19 RCTS 28 SL    ZEN (KOYO TYPE)    305 

20 RCTS  283    SUZUKI 1000 CC     305 

21 RCTS 371 SAI    MITSUBISHI CANTER    450 

22 RCTS 271 SA 2    MISTUBISHI CANTER  N/M   450 

 



KROME    A V-2 PRODUCT 

BEARINGS 
CLUTCH BEARINGS (CONTID….) 

S.No.  BEARING No    DESCRIPTION     PRICE 

23 SC 0109     TATA SPACIO     580 

24 SC 119     SUMO,SAFARI,SIERA  N/MODEL   580 

25 STC 071     SUMO ,SAFARI OLD MODEL   530 

26 TK-40-4A    118 NE      230 

27 VKS 2168    FAIT UNO DSL     400 

28      FORTUNER     700 

29 KRM 51     SUZUKI VERSA     360 

30 1888180    TATA 608/709     480 

31 2W 2JSCA    LEYLAND (2-3/4)    480 

32 24 TKB 308 B2U3   VAN T-1     190  

33 3H 4PO     VAN T-2 & 3     310 

34 31230-35070    TOYATA INNOVA    450 

35 50 SCRN 44 P-2    INNOVA (NACHI TYPE)    480 

36 PRB-48     INNOVA (VALUE TYPE)    480 

37 35 TKM 29B2U3   MARUTI CAR 800 CC    170 

38 4J A1     TAVERA      470 

39 47 TKB 3001    MARUTI CAR T-2    305 

40 47 TKB 3101    HONDA CITY T-2 /T-2    375 

41 48 TKB 3201    LANCER  PETROL & DSL    375 

42 48 TKB 3202    LANCER PETROL & DSL    375 

43 50 SCPN 31P-4B    TOYATA COROLLA & INNOVA   460 

44 55 SCRN 34 P-8    HONDA CRV     460 

45 50 SCRN 40P-4    TOYATA QUALIS (NACHI)   420 

46 50 TKA 3805    CIELO , AVEO     380 

47 50 TKB 3505    QUALIS (NSK TYPE)    420 

48 60 TKB 3502    TOYATA CAMRY     510 

49 9628 6828    OPTRA      1850 

S.No.  BEARING No    DESCRIPTION     PRICE 



KROME    A V-2 PRODUCT 

BEARINGS 
50 LVK 5100058    FORD FIESTA     1550 

51      CLUTCH BRG MICRA    1750 

52      CLUTCH BRG DUSTER    1750 

53      CLUTCH BRG BEAT –D    1750  

54 BR-Y032    SUZUKI SURRFIT (D)  SX4   1550 

55 KRM-60     LOGAN      380 

56 CBU 543625    FORD ENDEAVOUR    700 

57 CHB 025    M.HAWK     1850 

58 68 TKB 3506 AR    DCM 14-B     490 

59 N 21464    TATA NANO     305 

60      SUZUKI SWIFT (D)    1550 

 

REAR WHEEL (HUB) BEARINGS 

S.No.  BEARING No    DESCRIPTION     PRICE 

1 BAF-0013    HUB-FIAT PALIO/SIENA    1050 

2 BTH 1206 B    FORD FIESTA     450 

3 BT 329013    FORD IKON     190 

4 C 014     COM=QUALIS     110 

5 DACF 1050 B    HUB –LANCER PETROL & DSL   1250 

6 DACF 1085    HUB –LANCER CEDIA    1500 

7 DAF 31028    HUB OPTRA     2600 

8 30X65X21    NISSAN 118 NE     290 

9 DG 357222    GYPSY      295  

10 HUB 008-72    HUB HONDA CITY T-1/T-2   1200 

11 HUB 065-15    HUB MARUTI 1000 & ESTEEM   1050 

12 HUB -254    HUB SUZUKI BALENO    1150 

13 LM 11749/10    HYUNDAI SANTRO,CIELO, CORSA  145 

14 LM 44649/10    HUYNDAI SANTRO    160 

15 LM 45449/10    DAEWOO CIELO & CORSA   160 

S.No.  BEARING No    DESCRIPTION     PRICE 



KROME    A V-2 PRODUCT 

BEARINGS 
16 V497/V 460    TATA SAFARI,SUMO,SCORPIO   650 

17 VKBA 625    HUB-FAIT UNO (D) PETROL   1050 

18 VKBA 961(25520037)   LOGAN ,AVEO     375 

19 VKBA 1333    KIT FORD IKON     410 

20 25 BWD 01 (25520042)   SUZUKI ALTO / WAGON R   330 

21 28 BKW 19 A    HUB HONDA T-3    1200 

22      R/HUB SWIFT-NON ABS    1600 

23      R/HUB SWIFT –ABS    1700 

24      R/HUB ERTIGA-ABS    2200 

25 28 BWK 19 B    HUB HONDA T-4    1200 

26 HUB 227.39    HUB HONDA T-5    1500 

27 3 DAC F026    HUB TOYOTA COROLLA    2400 

28 30204     REAR INDICA, MATIZ    125 

29 30205     REAR INDICA , MATIZ    150 

30 30208     REAR TAVERA     220 

31 35 BCD 0856    TOYOTA QUALIS,INNOVA   340 

32 51754192    FIAT LINEA / PUNTO    1550 

33 52710-25000    HUB SANTRO XING,ACCENT   1210 

34 52710-25000    HUB ACCENT VIVA    1350 

35 52715     GETZ,VERNA     2400 

36 52710-2B100    HUB ELENTRA     3200 

37 43402-80300    HUB MARUTI SX4 WITH SENCOR  2760 

38 44200-SN4-A52    HUB-HONDA CIVIC    2400 

39 57307 A2    TAVERA      280 

40 91925-1 C000    I-10,I-20, & GETZ N/M    2400 

41 800179     HUB SKODA     1200 

42 801191 AD    HUB POLO , FABIA    2100 

43 IT 0598611 B    HUB –LAURA     2300 

44 28580044-2RS    REAR SWIFT / RITZ    450 

S.No.  BEARING No    DESCRIPTION     PRICE 



KROME    A V-2 PRODUCT 

BEARINGS 
45 28580044-2RS    REAR INDIGO / INDICA N/M   450 

46 DBF 101410 P    STARTER BRG INDICA / ACE   30 

47 DBF 121610 P    STARTER BEARING INDICA   30 

48 DBF 90032    STARTER BEARING INDICA N/M   35 

48 F229411    STARTER BEARING  APE    58 

50 TR 0708-1 RN    DIFFERENTIAL  QUALIS    380 

51 11 MFN 1615 UH   STARTER BEARING MARUTI   48 

52 17887/31    DIFFERENTIAL GYPSY    380 

53 30306 D    DIFFERENTIAL QUALIS    320 

54 33205     TATA WINGER     295 

55 33207     TATA WINGER     470 

56 DAC 224837-2RS   KWID      400 

57 DAC 306248    DUSTER/LODGY     630 

58 DAC 2656    EON      530 

59 AU0504     MICRA/SUNNY/DUSTON GO   550 

60      SCORPIO S2/S10/TUV-300   2800 

61      CAPTIVA     3200 

62      CRUIZE      3200 

63      ETIOS NON ABS     1750 

64      ETIOS ABS TYPE     2000 

65      ACCORD T-1/T-4 

66      XUV-500 ABS 

67      RAPID/VENTO     1500 

68      AMAZE –ABS     1280 

69      VITARA BREEZA 

70      IVTEC/HONDA T-5/AMAZE   1700 

71 BB 13374    XYLO       550 

72      INNOVA CRYSTA    550 

73      R/W FORTUNER     850 

74      DUSTER ABS 



KROME    A V-2 PRODUCT 

BEARINGS 
TIMING TENSIONER 

S.No.  BEARING No    DESCRIPTION     PRICE 

1 C525-IT OR 525-597-277  LANCIA/UNO PETROL /SIENA /PALIO  275 

2 GT 10022    HYUNDAI ACCENT    375 

3 11010     HYUNDAI ACCENT  CRDI PULLEY   1525 

4 2441027000    HYUNDAI ACCENT CRDI BIG SPRING   …… 

 5                                                                                    TYPE TENSIONER    1260 

6 F-123906.06    FORD FIESTA     505 

7 39280001    FORD FIESTA PULLEY    1575 

8 532032110    FORD FIESTA T-2    420 

9 532032000    FORD FIESTA T-3    395 

10 GT 10240    HYUNDAI SANTRO    370 

11 GT 30010    HYUNDAI MATIZ    410 

12 JPU 52-128+JF 434   SUZUKI VAN,MARUTI 800   180 

13 JPU 55-54    LANCER DSL     325 

14  JPU 60-406+JF 607   LANCER DSL     495  

15 JPU 60-85    LANCER DSL     445 

16 11826-531003110   ZEN DSL     525 

17 NEP 51-002 B-6    SUZUKI ESTEEM,ZEN    330 

18 P-8307614    PALIO DSL TENSIONER    1200 

19 PA 66-GF 25    IKON-TENSIONER PULLY/ PALIO DSL  330 

20 11804     ESCORT/IKON Y TYPE TENSIONER  760 

21 TIT-724     TATA INDICA     385 

22 VKM 76871    MARUTI MPFI,ALTO,WANON R,   380 

23      SUZUKI VERSA & ECCOVERSA   415 

24 13505-OL 030    TOYOTA INNOVA TENSIONER   695 

25 30020     TOYOTA INNOVA PULLEY   1300 

26 67020     TOYOTA INNOVA BULLET  TENSIONER  1495 

27 62 TB 0813 B01    TOYOTA QUALIS    510 

S.No.  BEARING No    DESCRIPTION     PRICE 



KROME    A V-2 PRODUCT 

BEARINGS 
28 PU 245339 ARR-S   HONDA T-1,T-2& T-3    440 

29 532003910    CHEVROLET OPTRA1.8 T.TENSIONER PULLEY 405 

30 90500229    CHEVROLET OPTRA 1.8 TIMING ADJUSTER 

31      OPEL O/M,OPEL CORSA    1040 

32 96350550    CHEVROLET OPTRA 1.6-PETROL   860 

33 96349976    CHEVROLET OPTRA 1.6-TIMING ADJUSTER 1160 

34 JPU-60-57    NISHAN-CD-17     410 

35 65 TB 081B01U    NISHAN-CD-17     530 

36 13077545A00(JPU 60-150)  NISHAN –CD-17     510 

37 525-597-278 OR VKM 12151  FIAT UNO DIESEL    410 

38 525-597-279 OR VKM 22151  FIAT UNO DIESEL    410 

39 525-597-276    FIAT UNO DIESEL PULLEY   260 

40 JPU 57-54+JF 598   LANCER PETROL    505 

41 90499401    OPEL ASTRA N/M DAEWOO /CIELO  530 

42 INA-12090    INDICA DSL     425 

43 SKODA OCTAVIA   SKODA –ALTERNATOR PULLEY 

44      (REVERSE TYPE ONE WAY)   1090 

45 038903315 C    SKODA OCTAVIA TANSIONER WITH  

46      SHOCK ABSORBER    1880 

47      SHOCK ABSORBER FOR TENSIONER  690 

48 038109243 N    SKODA OCTAVIA TIMMING BELT 

49      TENSIONER W/BOTH SIDE COLLAR  875 

50 038109244 M    SKODA OCTAVIA HEAVY TYPE   900 

51 038145276          600 

52 058109244    SKODA OCTAVIA BELT ROLLER SMALL  300 

53 038109244 E    SKODA OCTAVIA BELT ROLLER SMALL WITH PIN 300 

54 8200102941    LOGAN DSL  T-TENSIONER   840 

55 038109243 M    SKODA LAURA BELT T- TENSIONER  1800 

56 038109243 F    SKODA FABIA  T-TENSIONER   1800 

57  EON     TIMING TENSIONER EON   1000 



KROME    A V-2 PRODUCT 

BEARINGS 
 

LCV’ LIGHT COMMERCIAL VEHICLES 

S.No.  BEARING No    DESCRIPTION     PRICE 

1 HM 803149/10          490 

2 HM 89449/10    J.C.B      320 

3 LM 29749/29710   J.C.B      220 

4 SC 050617 CVC 3   PILOT PINION BEARING CANTER  N/M  430 

5 02474/20    FRONT WHEEL-OUTER –DCM 13 B  310 

6 102949/10    J.C.B      220 

7 1988/22          210 

8 25 V 14625    TOP SHAFT BEARING CENTER O/M  330 

9 2578/23          355 

10 25584/20    J.C.B      370 

11 28 TAG 12    KINGPIN BRG- CANTER    140 

12 28584/21    RR WHEEL OUTER-DCM  13B   420 

13 28985/21    DIFFERENTIAL BRG CANTER   390 

14 30 TAG 001    KINGPIN BRG-MAZDA    155 

15 30207           220 

16 30211-1    RR WHEEL OUTER-CANTER   370 

17 30212     RR WHEEL-INNER –CANTER   380 

18 30213           485 

19 30308 D    PINION BRG-CANTER  N/MODEL   470 

20 30309 D    PINION BRG-CANTER N/MODEL   570 

21 32205           175 

22 32207     FRT WHEEL-OUTER-CANTER /MAZDA  245 

23 32208           280 

24 32209     FRT WHEEL-INNER-MAZDA   290 

25 32210                   -----------------------------------------   350 

26 32212     -----------------------------------------   455 

27 32213     -----------------------------------------   505 



KROME    A V-2 PRODUCT 

BEARINGS 
28 32214     -------------------------------------------  530 

S.No.  BEARING No    DESCRIPTION     PRICE 

29 32307     -------------------------------------------  305 

30 32308     -------------------------------------------  360 

31 33012     --------------------------------------------  515 

32 37801/1 YD/20 PZ   FRT WHEEL-INNER-CANTER   505 

33 387/382    -------------------------------------------  450 

34 469/453    RR WHEEL-OUTER-DCM 13 B   490 

35 6307 ZNR    GEAR BOX BEARING—CANTER   250 

36 6308 ZNR    GEAR BOX BEARING—CANTER   295 

37 801346/10    PINION BRG –CANTER    470 

38 803149/12    BEVEL PINION RR – CANTER   490 

39 86649/10    --------------------------------------------  305 

40 32305     CANTER     300 

41 33111     R/WHEEL INNER MAZDA   510 

42 33112     INNER  N/M MAZDA    605 

 

BALL BEARING 

1 ACS 0304    STRG BRG-MARUTI GYPSY   120 

2 ACS 0304-2    STRG BRG-MARUTI VAN    115 

3 30305     BEVEL PINION BRG- MARUTI   200 

4 32004     COUNTER SHAFT BRG-MARUTI 1000/ZEN 

5      ESTEEM      200 

6 32008     DIFFERENTIAL BRG- MARUTI   220 

7 33005     COUNTER SHAFT BRG- MARUTI 1000/ZEN 

8 62/22-2RS    --------------------------------------------  200 

9 62/28     ---------------------------------------------  210 

10 62/28-2RS    ---------------------------------------------  230 

11 63/22     ---------------------------------------------  210 

12 63/22-2RS    ---------------------------------------------  230 



KROME    A V-2 PRODUCT 

BEARINGS 
13 63/28     --------------------------------------------  250 

S.No.  BEARING No    DESCRIPTION     PRICE 

14 63/28 NR    ---------------------------------------------  280 

15 63/28-2RS    ---------------------------------------------  280 

16 63/32-2RS    -----------------------------------------------  260 

17 63/32-2RS  NR    -----------------------------------------------  350 

18 6204-C3    ------------------------------------------------  65 

19 6205-C3    ----------------------------------------------------  75 

20 6204 NR    --------------------------------------------------  90 

21 6304 NR    ---------------------------------------------------  105 

22 6000 -2RS    ----------------------------------------------------  45 

23 6004-2RS    ----------------------------------------------------  90 

24 6007-2RS    FRT WHEEL BRG-MARUTI VAN/CAR/ZEN  105 

25 6200-2RS    -----------------------------------------------------  46 

26 6201-2RS    ------------------------------------------------------ 53 

27 6202-2RS    ------------------------------------------------------ 58 

28 6203-2RS    ------------------------------------------------------ 65 

29 6204-2RS    RR WHEEL BRG.MARUTI VAN/CAR/ZEN  75 

30 6205-2RS    RR WHEEL BRG.MARUTI VAN/CAR/ZEN  90 

31 6206-2RS    ------------------------------------------------------ 125 

32 6207-2RS    RR WHEEL BRG-TATA ACE & VERSA/ECO  155 

33 6301-2RS    ------------------------------------------------------ 75 

34 6302-2RS    ------------------------------------------------------ 85 

35 6303-2RS    ------------------------------------------------------ 95 

36 6304-2RS    ------------------------------------------------------- 110 

37 6902-2RS    ------------------------------------------------------ 55 

38 6903-2RS    STRG BRG-MARUTI  CAR   60 

39 6904-2RS    ------------------------------------------------------ 70 

40 6905-2RS    ------------------------------------------------------ 75 

41 83 A 831 SC5-2RS   CENTRE JOINT BRG- MARUTI   355 



KROME    A V-2 PRODUCT 

BEARINGS 
42 83 A 831 GC5  ZZ   CENTRE JOINT BRG-MARUTI   370 

    

  

      NOTES 

 

 

 

  

 

 

  

       

 

 

 

 

  

 

   

 

…………………………………………………………………………………………………………………………………………………. 

…………………………………………………………………………………………………………………………………………………. 

…………………………………………………………………………………………………………………………………………… 


